[>

;> restart,
> pl =141

(> p3:=1+4.9I
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(> p2:=1+1.01-F

=> fIr := Re(erf(pl-x));

=> fli == Im(erf(pl-x));

ﬂ
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pl=1+1
p2:=1.+1011
p3=1.+091I

flr:=R(erf ((1 +1) x))

Sli:=J(erf((1 +1) x))

=> plot([ f1r, f1i],x=0..20, color = [blue, red]);
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U

=> f2r == Re(erf(p2.x)); f2i ==

Im(erf(pZ x));
r=R(erf((1. +1.011)

i 2= (erf((1. +1.011)
> plot([ f2r, f2i], x=0 .15, color = [blue, red]);
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=> f3r == Re(erf(p3-x)); f3i := Im(erf(p3-x));
fBr=R(erf((1. +091) x))
f3i=J(erf((1. +091) x)) @)

=> plot([ f3r, f3i], x =0..20, colour = [ blue, red]);
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